MS8WT1 - Regression Inference

1. Find the following quantities based on this JMP output:

4 |~ |Bivariate Fit of Shoe Size By Height (inches)
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A Linear Fit
ShoeSize=-14.31388 +0.3535989*Height (inches)
4 Summary of Fit
RSquare 0.618453
RSquare Adj 0.617307
Root Mean Square Error 1.185488
Mean of Response 10.19260
Observations (or Sum Wagts) 335
[* Lack Of Fit

[ Analysis of Variance

< Parameter Estimates
Term Estimate 5td Error t Ratio Prob>|t]
Intercept -14.31388 1.056814 -13.34 <.00017
Height (inches) 03535980 0.01522 2323 <.00071*

(a) sample intercept

(b) sample slope

(¢) coefficient of determination

(d) correlation

(e) standard error for the sample intercept
(f) standard error for the sample slope

(g) 95% confidence interval for the population slope (assuming this a random sample from some
population)

(h) p-value for the hypothesis test Hy: §1 =0 vs H, : 1 # 0



MS8WT1 - Regression Inference

2. Find the following quantities based on this JMP output:

4 |~ |Bivariate Fit of Length of Relationship By Age for Electronics
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Age for Electronics
» — Linear Fit
4 Linear Fit
Length of Relationship = 18.473192 - 0.1564742*Age for Electronics
4 Summary of Fit
RSquare 0.000272
RSguare Ad| -0.00274
Root Mean Square Error 17.56145
Mean of Response 16.48353
Observations (or Sum Wagts) iy
I Lack Of Fit
[ Analysis of Variance
<4 Parameter Estimates
Term Estimate 5td Error t Ratio Prob>|t]
Intercept 18473192 6.68894 2.76 0.0061
Age for Electronics  -0.156474 0.320387 -0.30 0.7639

(a) sample intercept

(b) sample slope

(c) coefficient of determination

(d) correlation

(e) standard error for the sample intercept
(f) standard error for the sample slope

(g) 80% confidence interval for the population slope (assuming this a random sample from some
population)

(h) p-value for the hypothesis test Hy: f1 =0 vs H, : 1 <0



